H & 0 & AFSE H Al A
20288 =& 13 Lete|H HH1s ~ 284S
M UA1S
M HH2HHH(THAHS)
ool J1=2ZHI(Ues) (S &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HnsZ
A= 203,218 195,368 7,850
Y 2AAYI(UA1S) 109,410 101,560 7,850
Jl23HI(tHeEsS) 109,410 101,560 7,850
Jl2ZHI(tHAS) 109,410 101,560 7,850
405 KHAHE SHI 7,850 0 7,850
01 IR =SFSHI 7,850 0 7,850
Osgdgsll 7,850,000 *1CH 7,850 0 7,850




H & 0l & AHSH H M A
20288 =& 13 Lete|H HH1s ~ 284S
AN HA3S
M HARAZHI(UHHIS)
el J12EHI(LHH3S) (CHel: &2l
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
Hoi3s 346,734 310,134 36,600
HYSHAHI(UHH3E) 180,424 143,824 36,600
J1238I(tHe13s) 180,424 143,824 36,600
J123HI(HeH3S) 180,424 143,824 36,600
201 2eH2 | 9,128 9,128 3,000
2 2222l 59,348 56,348 3,000
O15 324 g2l A i
3,000,000& 3,000 0 3,000
401 Al HIL20HH 22,000 22,000
01 AIZHI 22,000 22,000
O1Z8 394 USE WMl L HtE SA
22,000,000& 22,000 0 22,000
405 KHAHH SH] 16,300 4,700 11,600
01 IMLSEFHSHI 16,300 4,700 11,600
Oslolg Ext 300,000 *207H 6,000 0 6,000
Oslog ot 140,000& *40H 5,600 0 5,600




H & 0 & AFS Y Ml A
202338 =& 1 3 LB 1S ~ 284S
FAM: A4S
B oE P AL (0oUs)
SRl D12 (THo4S) (CHol: &S1)
SA -3 - A(3) - MISA - B85 Oi &F2H N3 Hws2
4= 177,995 177,195 800
Y 2AAYI(OH4S) 79,305 78,505 800
[2ZHI(HH4S) 79,305 78,505 800
J2ZHI(tHA4E) 79,305 78,505 800
405 Kot S| 800 0 800
01 IR =SFSHI 800 0 800
Ood&n 800,000& *1CH 800 0 800




H & 0 & AFSE H Al A
20288 =& 13 Lete|H HH1s ~ 284S
2N 8318
M AHH2HALI(BS1S)
ool J|=2dul(831S) (S &)
SA -3 - A(3) - MISA - B85 Off &K N3 HnsZ
2313 677,836 356,686 321,150
HY2AHU(ES1S) 455,336 134,186 321,150
ll=23tl(8318) 455,336 134,186 321,150
J|l23HI(8318) 455,336 134,186 321,150
401 AIEHIZ 2018 293,100 2,100 291,000
01 A&l 293,100 2,100 291,000
O=E23Hde QHICIO SAF
270,000,000& 270,000 0 270,000
OO0IJICH A AHel =t HHl SA
21,000,000& 21,000 0 21,000
405 KHAHFH SH] 30,550 400 30,150
01 AL =S F =H| 30,550 400 30,150
O=g=2sdH 3128 §Xt
300, 0002 *500H 15,000 0 15,000
OSg2stdlH 3los okt
140,000 *1000H 14,000 14,000
O 400,000 2CH 800 800
O&II2=7I 350,000 *1CH 350 350




H & 0l & AHSH H M A
20288 =& 13 Lete|H HH1s ~ 284S
2N 8345
i AHHHALI(BS43)
Eel: J|=2ZHI(2348) (CHe: )
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
234= 155,580 150,080 5,500
MY 2HAH(BS4S) 76,846 71,346 5,500
123HI(8543) 76,846 71,346 5,500
J|l23HI(8348) 76,846 71,346 5,500
401 AIEHIZ 2018 5,500 0 5,500
01 A&l 5,500 0 5,500
OSAH BIIAF =Xt32H X
5,500,000& 5,500 0 5,500
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